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Time : Three hours Maximum : 70 marks

1. (a)

(b)

PART A
(Analysis Skills)

Read the following passage and answer the questions that follow.

Naval architects never claim that a ship in unsinkable, but the sinking of the
passenger-and-car ferry Estonia in the Baltic, surely should have never
happened. It was well designed and carefully maintained. It carried the
proper number of lifeboats. It had been thoroughly inspected the day of its
fatal voyage. Yet hours later, the Estonia rolled over and sank in a cold,
stormy night. Of those who managed to scramble overboard, only 139
survived. The rest died of hypothermia before the rescuers could get them.
The final death toll amounted to 912 souls.

(1) Where did the ferry sink?

(11) Why should the accident never have happened?

(111) What was the effect of the accident?

(iv) What was the passenger-and-care ferry called?

(v)  Give the synonym for, ‘fatal’.

Read the following passage and answer by choosing the right option :

Erosion of America’s farmland by wind and water has been a problem since
settlers first put the prairies and grassland under the plow in the 19tk
century. By the 1930’s, more than 282 million acres of farmland were
damaged by erosion. After 40 years of conservation efforts, soil erosion has
accelerated due to new demands placed on the land by heavy crop production.
In the years ahead, soil erosion and the pollution problems it causes are
likely to replace petroleum scarcity as the nation’s most critical natural
resource problem.

(1) As we understand from reading, soil erosion in America
(1) causes humans to place more demands on land
(2) 1s worse than it was in the 19th century
(3) happens so slowly that it is hardly noticed
(4) 1s the most critical problem that the nation faces
(1) Erosion of Farmland’s happens by
(1) Putting it under the plow
(2) Pollution

(6x1=5)

(6x1=5)



(a)

(b)

©

(d)

(3) Wind and water
(4) Placing new demands on the land
(111) The author points out in the passage that erosion in America
(1) has become severe and forced people to abandon their settlements
(2) occurs only in areas with no vegetation
(3) can become a more serious problem in the future
(4) was on the decline before 1930’s
(iv) The antonym for “accelerate” is
(1) Rapid
(2) Slow down
(3) Stagnant
(4) Stop
(v) It is pointed out in reading that in America
(1) petroleum is causing heavy soil erosion and pollution problems
(2) there are many ways to reduce erosion
(3) water is undoubtedly the largest cause of erosion

(4) soil erosion has been hastened due to overuse of farming lands.

Correct the following sentences : (bx1=5)
(1) The small child does whatever his father was done

(1) The man to who I sold my house was a cheat

(111) Where is the shoes?

(iv) A laptop was very sophisticated and costly

(v) They were all shocked at his failure in the competition.

Rewrite as directed : (bx1=5)
(1)  They left for the airport. (Add a question tag)

(11) Jaya ordered the food. (Change the voice)

(1) He said, I did not lie. (Change into indirect speech)

(iv) Inspite of his hard work, the body didn't succeed. (Change into
compound sentence)

(v)  Susan will help you solve the problem. (Change into negative sentence)

Change into direct speech : 2x1=2)
(1 Raju told me he was going to the barber

(1) Preethi asked me to pass the salt

Fill in the blanks with correct form of verbs given in the brackets : (bx1=5)
(1) He wants Mary ————— (do) the dishes.

(11)  Would you mind ——— (open) the window, please?



(e)

®

Gandha.

(2

(b)

(1) He usually —————— (do) his homework in his room.

(iv) Let me ————— (leave) the classroom please.

(v) John ——— (watch) TV every night.

Fill in the blanks with suitable words given in the end.

(1) She ———— the job offer.

(11) The dog ran ————— the yard.

(111) He ————— about his mistake in that test.

(iv) She ————— and walked away.

(v) John ———— his friends for a while and then went home.

(velled, visited, accepted, thought, across)
Rewrite the following set of jumbled sentences to make a coherent passage.
(1) He could have practiced law and spent a comfortable life.
(11) He was born on 224 October, 1869
(1) He choose to fight the British, for independence.
(iv) Mohandas Karam Chand Gandhi, popularly known as Mahatma

(v) He was a lawyer by profession.

Write three exchanges of dialogue between a person who wants to book a
reservation at a hotel and the receptionist there.

Write a paragraph using the following hints.

Good for young and old — refresh mind — makes us smart and active — light
exercise — see nature — birds fly — flowers bloom — ponds — canals — full of
water — running water — sweet music — regular walk — enjoy most.

Write in about 100 words on any ONE of the following.
(1) The effects of peer pressure.

(11) The downside of smart phones.

(1) Growing number of people shopping online.

PART B

(Descriptive skills)

3. Write an essay on ONE of the following :

(a)
(b)
©

Justify the little, “A sense of the Future”.
Bring out the humour in George Bernard Shaw’s, “Dilly at the Dentists”.
Summarize the story of “The Topaz Cufflinks Mystery”.

4. Write short notes on any THREE of the following :

(a)

Rose”.

Write about the comparison of the rose to the lady in the poem “Go Lovely

(6x1=5)

®3)

®3)
®3)

®3)

(1x5=5)

Bx3=9)



(b) What is the central theme of “On killing a Tree”?
(¢) Summarize the poem, “The Express”.
(d) How is the importance of nature brought out in the poem, “Tables Turned”?

(e) Justify the title, “Laugh and Be Merry”.

Write an essay on ONE of the following : 1x4=4)
(a) Explain the irony in Karel Capale’s, “The Fortune Teller”.

(b) Bring out the appropriateness of the title, “God sees the Truth but waits”.

(¢) How is Srijut the victim in “The Gold Watch”?

(a) Explain any two of the following : 2x2=4)

(1 Yes I did, but that “be in London. She is going to stay with me, and
then live with the same family”.

(1) You ask, what is our aim? I can answer in one word. It is victory.
(1) ‘T've seen wild cats in trees at night and their eyes shine’.

(b) Explain any ONE of the following : 1x4=4)
(1 Up!Up! My friend and clear your looks why all this toil and trouble.

(1) Allis, if T have grace to use it so. An ever in my hard task Master’s eye.
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SECTION A

1. fdbogl dital &t Aogs Afgd I BT (3x3=9)
(a) TfecT Bt gor 3 Jgrared Sfia If His 3 dt 3 forewr &t v % & 3Merdd 3

(b) 3t 319 8t Gre B 872 31 d BT &, Tre P34 &l P 6 3R O S f Sgler gl
391G BT R FoT I - |

(© 3SUf BT BH TGl &: AR, AT U dg At DI SIeATcl! &, ST g A IAPBT SToH BidT o

(d) IRCAAT Bl G| F FoTET BT ASTPAR, JFER 3]s BT el §- R &G bt ATl FF[Uce H
5o ST} STetett | 3 3yt

) ‘‘PIBIRWFGs?’ ‘IR Iod sl Ad I’

SECTION B
2. fdoft v ure @1 A fadwanstt Afga felRam  (10)
(a) i 3R Bfar|
(b) e it

3. &t oo ure @1 Amrer faewanatt Afga faRawl - (10)
(a) 351 o ot A A A
(b) A T H TR

4. fbft o wgret 1 A RAwanatt afda ferfaer (10)

(@) TR
(b) QMR BT drareT|



(c)

(@) TRoal eel B 3TaeddmaT d1d g 3Uel BIC #13 &I W eIl |
(3terarn)

(b) 3MID Hpe DI TGl & AT H FAPRUICIST B 3HfEBR BT U7 fra|

faseft @ wrot @1 StaTe g ufeRn & forlae) (2 x 3 = 6)

() el @1 afE-fEor Hifsr|

(b) STET it 3BT TfHr-femor Bifom

“IGTIR BT dTdiet”’ Fglett BT 2fies bt el R g Sfey
(d) A’ Dol BT 3T RATE?

IS T2at BT IR foreT aiforarf (10 x 1 = 10)
(a) g HIs! o It ol
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(e) & AGH SIS9M|
(3 et Bret A fARe))
() R gl
(@RS @ o1 ferfa)
(g) QR oI ctet st ot
(e HIfo)
(h) 3t 3T T
(ATt Sgere ferag|)

(10)
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Answer the following.
(3 x 8 = 24 marks)

1 (a) Write the significance of the Ramayana in 10 lines.
IARIVRITAARVHATEIpeY G2T aTaTiol forsrd ?
Or
(b) Explain the qualities of scholars as described by Noble Vidura.
gt s 9 e o 2
2 (a) Write the words uttered by celestial bachelor with Parvathi who was
performing Penance.
queTsdt arddt gfcr sifeer=r agenfer forsa 7
Or
(b) Explain the help rendered by Rajavahana to Brahmin.
TG (Gl (321Gad ?
3 (a) Describe the six seasons as prescribed in the lesson.
UTGIHTSHORICY YEe] Jurad 2
Or
(b)  Write the story of intelligent Rabbit.
AR BEicl BT forerd ?
4.  Answer any FOUR of the following with reference to context. 4x3=12)
Tcd 521216634@&’1 1A |
(a) T YRedloH ool HloIdogUT |
(b)  FAEHATUNG TogAT: |
(¢) ferfoganfor of Jad|



(d) Femgfte et gl

(e) ORRATE JEHATERTH|

(f)  TIr: Bt 1§ Yeleiaa faerd |

(9) 3T Profol GIPADCH! TATHI

(by o g et I wal

Translate any TWO into English or Telugu.

& STCLHTII a1 TSI aT 3iefdTed |

(a) 3 pad ot e gfie fRafr =
BH TRHA G AATGHAGITIH |

(b)  JATcHe TS eAtefafiafian|
FARINHTS oTsrIleaeq w3 aicad ||

) foraa werdfer fotfecafer of Jad |
3TTTIRRTab: STgZeNTel UAcaUSAot&ToT | |

(d) TS ARYITET ATe: FdBHOTH|
SUTIEH ASATON oR: Ufoed Jead ||

2x3=6)

(a) Write the forms of any THREE in the other numbers of given persons :

TV gy &g FATOT forzd |
G) safa Gi) srfFrsafa
(i) s (v) faeRg
v) od (vi) 3red
(vii) dogd (viii) 31|
() Decline any FOUR as per the case ending.
TquIt AdTGHTEY QreG=aTor fored |
0 @I Gi) P

(iii) el Gv) foaf

(Bx2=6)

(4x2=8)



(v) o al (vi) IHH

(vii) Afar: (viii) oT&|
(¢ Combine any FOUR Sandbhis. (4x2=8)
Feai? Feerd |
@) dY+IE (i) 7T + IG:
(i) ©Tq + 3T (iv) al+3m
(v) dq+d (vi) ad + cler
(vii) §C+ I3 (viii) 3T + 37oat: |
(d) Dissolve any THREE. (3x2=6)
FTOT frsrgaTaRfer fersrd |
G) e (i) gdor:
(i) 3[cTafer: (iv) TR
(v) 3ren: (vi) Sftcelicaers]

(vid) GBS (viii) TR




(DICS 1)
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10.

SECTION A — (2 x 13 = 26 marks)
Answer any TWO of the following.
Describe evolution of Caste system in Vedic culture.

D903, yBS” HeNgIY HBe00 HBOD DSBoBBL.

Describe norms of Buddhism.

23"(33&)@83&) 3B0E); D20ERHOD DBBoLSwW.

Why Gupta period is known as Golden age.
1O® DBAORBROD DSBoSH.

Explain status of women in Mughal rule.
00Ker0s0e FroPS® T FFErd HBoSBW.

Why did Ashoka fight no war after Kalinga?
9% E9oi oimgsﬁ.n BB0T°H JOLOK oiS.Dtgsﬁ.D DoHSKo.

Describe briefly the social reform movements.
R0R0E H0R), BT EHEDBNON KHOM DSBOHID.

SECTION B — (3 x 4 = 12 marks)
Write short notes on any THREE questions.

Sufism

RONY)
Vijayanagar rulers
D2S0ING Treeen
Non Violence

0

Satyagraha
é@"élﬁb“’m

Maximum : 50 marks



11.

12.

13.

14.

15.

16.

Ramakrishna Mission

wmégngS

Sati system

DRDT KBBS00

Non Co — operation movement.

[EADH :Jcoéeﬁe‘s%émm

Ishwar Chandra Vidya Sagar.
ée%‘sg P08 36"5@1’??5

SECTION C — (3 x 4 = 12 marks)

Answer ALL questions.

Fill in the blanks :-
PrdOL FrrB8oLw.

(a) Child marriage was eradicated by

EPODTHVN OSB3 DDIB AHB .

(b) Mughals came from
AVFEPOLY E);E600D ;51‘1)38 .

(¢) Mahabharat was written by .
05382 E800:0 B0V TED .

(d) founded Buddhism.
e3P0 eED.
] ®

Choose the correct answer :-
DBADYP DLTPGESS0eD (P08

(a) Mughals brought to India.
B0KETP0ED 2IPSBRFI0IE NG

1 Islam (111) Buddhism
AP FEH0B50

(1) Jainism (iv) Christianity
BIL0EBS0 Ls._.x;;smeém



(b) Akbar' minister was
©9%)5 s 8D
@

(1) Todarmal (1) Birbal
&850 DB
(11) Tenali Rama Krishna (iv) Akbar
B8 TeHA CENeS

() Gandhijiled
o8 3e§9e§£m 89

(1) Bhakti Movement (1) Jainism
238 €053000 BIL0EBS0

(11) Dandi March (iv) Buddhism
CSO&&&PSQ 23"(83&)@5&)3

(d) Indus valley civilization is related
D00E° 0 KB5S BIE $00G0IIE.

(1 Kalinga (111) Warangal
E9oK 380KS

(1) Harappan (iv) Vijaynagar
By DesaHINBo

17. Match the following :-

2BIGE 1~

(a) Mughals (1) Agra
2005000 e

(b) Non Violence (1) Caste
IJP0 o0

(¢ Taj Mahal (ii1) Delhi
TEOTS &@

(d) Untouchability (iv) Ahimsa

90800”8500 90
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SECTION A — (2 x 8 = 16 marks)
Answer any TWO of the following.

1. Explain the significance of the Harappan culture.

TPBy PHBEBL KO ey A8, (3°a50S0.

2. Explain the life and principles of Buddha.
20060 BB B DCTOBSNOID KBy (FPOKSW.

3.  Write the significance of the Mauryan administration.
337050 BT (368 170y (P08,

4.  Write the importance of Kanishka and his services to Buddhism.
EDIR (G F PTG S DS VIO X8y (DAhOSw.

SECTION B — (3 x 13 = 39 marks)
Answer any THREE of the following.

5. Explain the social, economic and religious conditions of Satavahanas.

BB SO0 e o0, €588, S é@%eﬁom D3B0H)a30.

6.  Why Gupta period was considered as "The Golden age"?
‘YO TS DG OIS0 Jey DIBOHSD ?

7. Explain the significance of Harsha Vardhana in the Indian History.

rBBRE SBIBS” TR PSSR M8 [EPaS.

8.  Write the important reforms of Alla-ud-din Khilji.
@ePHED PO H50%),BE05 DSBOYHK0.

9.  Write the significance of Feroj Shah Thughlagq.
DB S /5 FoIB M8y @PaSw.



10.

11.

Explain the greatness of Sri Krishna Deva Raya.
BE)a AST 00 7y $:5:320880 M8y [FPas8.

SECTION C — (3 x 5 =15 marks)
Answer any THREE of the following.

(a) Vedic literature.

DEE o203,
(b) Vardhamana Mahaveera.

5GBS 0D
(¢) Haryanka Dynasty.

TPB508 T°23:308300.

(d) Kutubuddhin Aiback.
SH&2080 o8.

(e) Sultana Razia.
88K doerar.

(® Rudrama Devi.
S0 BD.
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SECTION A — (2 x 8 = 16 marks)
Answer any TWO of the following.
Explain the growth of Political Science.

0730 B Y50 DI)BO DSBoYHS0.

Define the normative approach to the study of Political Science.

208 T ©ADI0S” SIPSRADEE R, By0s.

What are the elements of state?

Toesg 33°08 om0 IS B0y0dk?

Write short note on social rights.

RPOVE TPENOD OP 0 [PAHOG.

Discuss the nature of the Indian Federalism.

2B B3P DGR Begradsnd $8y0Sok.

SECTION B — (3 x 7 =21 marks)
Answer any THREE of the following.

What is sovereignty? Types of sovereignity.

AEEFSTETE0 063 IV ? FBFSTETE0 S5een.

Write a short note presidential form of government.

938, BB H80BE0D 2.8 O 70 PSS,

Explain the functions of legislature.

BP0 2983 DEVOS D3B30,

Describe the theory of separation of powers.

Slaienilati-elas ?ocs@ooééog D380y,



10.

11.

12.

13.

14.

Write an essay on functions of political parties.

oresdah 8o ABog, DEHOD &8 TG0 abod.

Distinguish between nation and state.

2@ S08010 T3S0 S0651e BEPOS SeuFHBw.

Explain about equality of opportunity.
DITS ©955°F0 80D DSBOLSW.

SECTION C — (3 x 3 =9 marks)
Answer any THREE of the following.

(a) Evolutionary theory.
$BeF DELOBSW.

(b) Kinds of equality.
D3PI F5°e0.

(¢) Universel Adult Franchise.
BSOS I0ITesS 8t TeEY).

(d) Judicial Review.
s DE,

(e) Referendum.

98| DESes.

()  One party system.
D8 0 DEPSB0.

(g) Democracy.
(2923 Pge30ge3 .

SECTION D — (24 marks)

(a) Answer the following in 1 or 2 sentences :

(1  Civil Society.
DR D3T°35300.

(1) General will.
8.

(1) Liberty.
3,

(10 x 2 = 20)



(b)

(iv) Federal government.

DSy (eSS0,

(v) Economic equality.
€585 J3rSSc0.

(vi) State of nature.
5)DE S5

(vil) Morality.
D&,

(vii1) Executive.

58 ATEF.

(ix) dJustice.

soéQioo.

(x) High Court.

25,
Answer the following in 1 or 2 words : 4x1=4)
(1) Nation.

ed.

(1) Politics.
O3S,

(1) Social contract.
3798 2.E0GE.

(iv) Modern state.
€36000 TrasgEs.
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10.

Answer any FOUR questions.

All questions carry equal marks.
Define sociology. Explain the nature and scope.

RPSTPEE BRI A ? PR AB0E), HBE S0B0K0 DIt DSBoLHSW.

Describe the relationship between sociology and psychology.
FTe88 BsI00 08I0 SoIYE BRI S0 HOOEER) DSBOBOSW.
Write an essay on organismic theory.

B3689 DEOBSN MGy oS (ai0sn.

Explain the characteristics and functions of individual in the Human Society.

BP33 BIPBINS’ 38 A, OFEFe) S08AH) DEHOKH DIBOWIN.

Discuss the role of culture and personality in socialization.

FoEESe 58NS’ DO, )& 0800 558500 AE), e(esd K78y w5810:Ha30.
Write a note on organization and social structure.

Pe3°e28 DT7Ea:30) 508050 DY LHOMP [°aus.

Briefly explain about institutions and communities.

0P B8 HOSVV 1378y RS B30M DSBOBW.

Write an essay on social control.

D322 DODOBEID D930 (PSS,

Explain the influence of Heredity and Environment on the individual.

ISR SOBFBOHGH S080TN TPBPS3BEISN AT, (9g°R) (P8 DSBOBISW.

Discuss the characteristics of social stratification.

38 SBEGEd AAE), OFETOR SB0BW.



